HW 5.8 Key

1. Let Xand Y be random variables such that Var [X] =4, Var [Y] =7,and Var[X + Y] =19. Let
Z=8X+9Y +3.Find Var[Z]

1399 B) 1343 Q) 1371 D) 1427 E) 1455

i

\Var E‘)( 4—\(‘3

A

Ver IX) +VVar Oy) + 2Cev [X.Y—S
Y +771 + 2 Cov [X\Y') = Cov [X\\(‘A = L‘]

("

o [%j AV K_%X + q\(‘—l =

LHVar ) + 81 Vac[Y] + 2(3)(Q) Cov [X,Y)

'

. Let Xand Y be random variables. You are given that:

* Var[X +8Y]=5129
* Var[2X +4Y]=2084
* Var[7X +6Y]=9721
Find Cov[X,Y].
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3. Let Xand Y be random variables such that Var[X] =4.5, Var [Y] =24, and Pxy = 04. Let
U=2X+8Y and V=9X —5Y .Find Puy-
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4. Let Xand Y be random variables such that Var[X] =6.5, Var [Y] =2.6,and COV[X, Y] =2.7.Let

U=2X+4Y and V =k X +3Y . The variables U and V are independent. Find k.
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5. Let X, Y, and Z be random variables such that:
* Var[X]=12, Var[Y]=11,and Var[Z]=7
* Cov[X,Y]=9, Cov[X,Z]=4,and Cov[Y,Z]=7.

Find the varianceof W =8X +6Y +9Z +2.
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